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B B EaE 4, 000 46 54/ 100[30.0 [70.0 | 69
YEE IS | JK R REIE 3, 000 44 41  85/14.4 [70.6 | 8 [INP IN 14
3 Fih ZH 2,000 50 49]  99127.6 |71.4 | 64
4 'EE E 1, 000 37 45 82112.0 170.0 6 INP OUT 3
RER I = 1, 000 49 50  99]27.6 [71.4 | 64
6 |HE EHT 1, 000 49 44]  86/14.4 [71.6 | 11 [EPIER/ 4B GEQOD
7 ERE R 800 37 42 79/ 7.2 171.8 3
8 | HH F— 800 43 40/ 83]10.8 [72.2 | 7
9 NIl 18 800 45 44! 89[16.8 [72.2 | 17
10 PR fdtsh 1, 000 43 46 89/16.8 172.2 | 17
11 &l P 36 40 76| 3.6 172.4 1 [BHEBGEOQ
12 |tk P& 36 40/ 76| 3.6 [72.4 1
13 Al B 44 44| 88[15.6 [72.4 | 15
14 _|HH ST 48 46  94[21.6 [72.4 | 35
15 LI foEs 500 49 44 93/20.4 172.6 | 31
16 |WEA e 43 370 80| 7.2 172.8 1 5 INP IN 3
17 /K F2HH 42 37 79/ 6.0 173.0 3
18 |EH =/ 43 421 85[12.0 173.0 | 8
19 18 Bia 45 45/ 90/16.8 [73.2 | 23
20 /MK IEFRD 500 44 45| 89]15.6 173.4 | 17
21 [Pk FaE 43 45 88/14.4 173.6 | 15
22 [ dbkt & 52 48] 100/26.4 173.6 | 69
23 /1L 39‘% 46 46/  92[18.0 [74.0 | 27
24 AW JaE 1, 500 48 50 98124.0 |74.0 | 57 |BAGEL&E /NP OUT 14
25 R LK 500 49 49! 98[24.0 [74.0 | 57
26 [1ha FHA 41 44!  85/10.8 [74.2 | 8 INP IN 3
27 |HLH BUE 47 44! 91/16.8 [74.2 | 25
28 ||l —k 48 42 90/15.6 |74.4 | 23
29 | %uii:: 48 48 96/21.6 |74.4 | 47
30 Il HEEE 500 50 521 102127.6 |74.4 | 79
31 |4 Ef& 45 50/ 95[20.4 [74.6 | 43
32 |fArEp 1 — 44 50/  94119.2 174.8 | 35
33 LR == 50 44! 94[19.2 [74.8 | 35
34 AR ﬁ% 43 44)  87/12.0 175.0 | 14
35 i B 300 50 43 93]18.0 [75.0 | 31
36 | HFA E&Zﬁ 46 46/  92[16.8 [75.2 | 27
37 IR Rl 49 43 92[16.8 [75.2 | 27
38 | FRIL LE 50 53] 103[27.6 [75.4 | 83
39 A SER 43 46/  89[13.2 [75.8 | 17
40 |PEIR ZRAF 300 46 49/  95[19.2 [75.8 | 43
41 | ALRH B 48 47/ 95[19.2 [75.8 | 43
42 [/ 48 53] 101/25.2 175.8 | 78
43 [EA = 45 49 94/18.0 176.0 | 35 INP OUT 8
44 |EH F— 48 46!  94/18.0 [76.0 | 35
45 [/BR BB 300 51 49/ 100[24.0 [76.0 | 69
46 | AT 47 53] 100/24.0 [76.0 | 69
47 YR G 51 55| 106/30.0 176.0 | 97
48 [k MR 51 48]  99]22.8 [76.2 | 64
49 [ PORK P 42 44 86| 9.6 [76.4 | 11
50 i CPE 1, 500 47 45/  92[15.6 [76.4 | 27
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51 |72k Uk 51 47 98[21.6 [76.4 | 57
52 [FKJR {i 44 A7) 91[14.4 [76.6 | 25
53 IR Jki& 47 56/ 103]26.4 [76.6 | 83 |INP OUT 10
54 |INH Fafl 49 54]  103[26.4 [76.6 | 83
55 [ FiAk (BIE 300 48 48] 96/19.2 [76.8 | 47
56 | ARl SRR 45 50  95/18.0 [77.0 | 43
57 |pEIR YhsE 58 59/ 117/40.0 [77.0 | 107
58 |'EiE & 45 49  94[16.8 [77.2 | 35
59 L A% 49 511 100122.8 177.2 | 69
60 )1l L 300 49 511 100/22.8 177.2 | 69
61 W Sk 45 48] 93/15.6 [77.4 | 31
62 [P s 42 44 86| 8.4 [77.6 | 11
63 JdbAT A 49 49 98120.4 177.6 | 57
64 |JTHk HEAE 50 48 98/20.4 |77.6 | 57
65 |E AR 300 50 48] 98120.4 177.6 | 57
66 il 46 58] 104126.4 177.6 | 90
67 |HM EFT 51 53] 104126.4 177.6 | 90
68 | EEF FEHE 47 50/  97[19.2 [77.8 | 52
69 /K SF 49 48/ 97[19.2 [77.8 | 52
70 | PaiE geHl] 300 43 54/  97119.2 [77.8 | 52
71 EFEH BB 49 48 97/19.2 177.8 | 52
72 PR EIE 53 49] 102[24.0 [78.0 | 79
73 |VERE B 52 50 102[24.0 [78.0 | 79
74 N B 53 55/ 108[30.0 [78.0 | 100
75 IR B 300 43 46 89/10.8 178.2 | 17
76 |ILUHA 3¢ 49 45|  94]15.6 |78.4 | 35 INP IN 10
77 [ Gull e 51 55| 106/27.6 [78.4 | 97
78 B BEL 59 53] 112133.6 178.4 | 102
79 |KHA 723 46 47 93]14.4 [78.6 | 31
80 |mi® I 300 54 451 99]20.4 178.6 | 64
81 |IljF fE 49 49 98/19.2 178.8 | 57
82 |f&lg 3L 53 57 110[31.2 [78.8 | 101
83 |{HJE B 49 48 97/18.0 179.0 | 52
84 |[ILlHO ZEF 49 54 103[24.0 [79.0 | 83
85 MK BER 300 49 A7) 96/16.8 [79.2 | 47
86 | JEIR ik 49 47 96/16.8 [79.2 | 47
87 |y HEIE 48 48|  96/16.8 [79.2 | 47
88 ki #h 56 58| 114[34.8 [79.2 | 104
89 |EiVE JE— 43 46!  89] 9.6 [79.4 | 17
90 B2 K FF 300 41 53]  94/14.4 179.6 | 35
91 |tk = 50 50  100[20.4 [79.6 | 69
92 MEILH MR 49 511 100120.4 179.6 | 69
93 | ZEE PR 53 59/ 112[32.4 [79.6 | 102
94 | HFW E— 51 54 105/25.2 [79.8 | 94
95 |k 300 56 49! 105/25.2 179.8 | 94
96 |tH{E MHsE 61 59/ 120]/40.0 [80.0 | 109
97 /MK BT 48 55/ 103]/22.8 [80.2 | 83
98 |1Ejk FEuE 58 57 115/34.8 [80.2 | 106
99 [ AHF A 59 55/ 114[33.6 [80.4 [ 104
100 [#kJ5 IF 1, 000 51 48] 99]18.0 [81.0 | 64
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